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“classrooms, a teacher should —

help students to regulate their
own emotions and motivation.
categorize -and label students
according to their performance
and make ability-grouping.
promote dialogue and discussion
among  children to build .
multiple perspectives. :
ignore diversity in the classroom
and follow standard methods of
instruction. :
(1), (iii), (iv)

(i), (ii), (i), (iv)

- (i), (iii)

(ii), (iii)

‘Which of the following is NOT an

effective strategy to address learners

from

disadvantaged and deprived

backgrounds ?

O
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Motivate the students to - set
moderately challenging goals and
provide appropriate instructional
support. ,
Form collaborative groups to work
on activities and encourage

* students to support each other.

Talk to the learners to understand
their needs and challenges faced
by them,

Asking the learners to enroll for
tuition- outside of school so that
the teacher does not have to pay
much attention to them, , .

. . Physical and emotional - health of

children _ their learning.
(1) isnot related to At
(2) has an insignificant role in

(3)  does not have any influence on
(4) plays an important role in

‘(4) (i), (i)
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It is important ¢o create
learning environment i
rather than

M
)
€)
(4)

= .
n the classroom
one,

fearful; facilitative

competitive; facilitative
collaborative; competitive
competitive; collaboratiye

Which of the following is an example of 5
effective  motivational strategy
encourage students to learn ?

to

(1)  Giving tasks that are very easy,
(2)  Creating a lot of opportunities for
~ competition.
(3) Providing scaffolding especially
when students learn a new skill.
(4) Emphasis on completion of work

rather than learning.

children’s thinking is NOT correct ?

(1)  Children actively think about
various phenomenon around them
and have an urge to explore.

Children are born with curiosity to
learn about the world _around

2

them. : |

Children construct their * own
theories about various
phenomenon around them.

Children cannot think of concepts
on their own and the primary role

€)

(4)

- Which of the following statements about &

of teachers is to provide
information.

Learning is a and

process.

(1) simple; individual

(2) complex; passive

(3) complex; active

(4) simple; linear

A teacher should the socia.l,

cultural, religious and - linguistic

|

!
diversity in her classroom to facilitate l
meaningful learning. = l
|

|

(1) understand

(2) neglect

(3) dismiss
ignore .
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10.

11.

In a

adapt their
assessment  to
students,

classroom . teachers
Pedagogy and vary

cater to individual

(1)  textbook-centric .
(2)  behaviouristic
3) | teacher-centric

“4) progreséive

Children’s failure in schoolr

(1) proves that these children have
genetic birth ‘defects and hence
should be pulled out from school.

(2) signifies that parents have not
“been able to support their children
to learn.

(3) suggests that children - from
deprived backgrounds are not

~ capable of learning.

(4) indicates that school has not been
able to cater to the needs and

interests of these children.

By working in groups, teaching and
helping each other, children

(1) get distracted and hence it is an
ineffective pedagogical strategy.

(2) develop ‘competitive - tendencies - |

that hinder leaming,

(3) are able to reflect on their own
thoughi processes and shift to a
higher level of cognitive activity.

(4) can develop misconceptions which

interferes with their k:ammg.
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12.

13.

14.

15.
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School socialization of
children.

(1) isaprimary agency of

(2) is asecondary agency of

(3) does not play any role in

(4)  plays very little role in

Which of the following theorists

proposed that children’s thinking is
qualitatively different from that of
adults ?

(1)

Howard Gardner

(2) Lawrence Kohlberg
(3) Jean Piaget
(4)

Lev Vygotsky

Which of the following statements about

development is correct ?

(1) Development -occurs in a neat,
orderly set of. stages

predetermined by genetic factors.

Development is simple and uni-
dimensional.

There is a lot of cultural diversity
in the development of children.

3).

Children across the world follow
the same sequence and exact time
of development.

(4)

Which of the following is a major
hallmark .of the period of middle
chlldhood"

Rapid development of motor skllls

(1)
‘ - and overall physical growth.
(2) Development ~ of scientific
reasoning and ability to think
K abstractly. e o
(3) Emergence of make-believe play.

-Devclopment of - logical thought
that is concrete in nature.

(4)
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"18.

19.

According to Jean Piaget, children in
formal operationaj stage

(1) cannot conserve, classify and

seriate.

(2) begin to engage in make-believe
and symbolic play.

(3) are capable of hypothetico-
deductive reasoning and
propositional thought,

(4) are bound by centration and
irreversibly of thought,

At which stage of Lawrence Kohlberg’s

theory of moral development do

individuals  believe that  actively

maintaining the current social system

ensures positive human relationships

and societal order ?

(1) The instrumental purpose
orientation :

(2) The universal ethical principle
orientation

(3) The punishment and obedience

. . ElmlE
orientation %n%
(4) The social-order maintaining :

orientation

During the period of childhood,

development - :

(1) consists only of -quantitative
changes.

(2) s disorderly and disjointed.

(3) is slow and cannot be measured.

(4) is multi-layered and complex.

‘Zone of proximal development’ is -
(1) the process where two individuals

who begin  with  different
understandings arrive at a shared
understanding.

(2) the process in which children learn
to perform tasks as set by the elder
members in a society. |

(3)  the area between a child’s current
level of independent performance
and the level of performanf:e that
the child could achieve w1th' the
help of adults and more skilled

peers. ks -that the child

’ of tas
5 :hc:z?dg ;e able to do as per her age -

but cannot.

(6)

o

T ————. T —— i "Wt S “E— ——. S ———— ———

1

P

16, o fa ¥ IFER I I Wk,

17.

18.

19,

e - _
o) mm,zﬂma%ﬁmﬁﬁﬁ
wTEE -
2)  weltwTors 3R Fikia® Tal § wm
AMIIRAE
() et fmmEem @6 ok

e R sadad gl
(4) e R SR HN R
IEEE |

wite Fie H s fowm & g §
QR sfth fha oraeen # @ 9w 9% favaw
war ¢ % adam wwihe soret 9
HiFAATE® F1T @ § TR JHAR
waw i amioe ol gt w7

(1) T 3w sy

(2wt 3o Rgia siffem

() &2 IR T PR
(4) WS- sTaw A=y

T Y JE iy § Ry -
(1) 3 %o ahmToTess afted 2 |
() aiE R smag R e |

ST HhaT |

) Wﬁtﬁ%ﬁm%

T R =1 8 w2 7
Ty T g |
() =& wiwm ﬁmﬁ =, W ¥



P-11
20.

@

21.

22,

In a progressive classroom, assessment

“of learners during the process of

teaching-learning —

(1) is helpful in identifying ‘high’,
‘low’ and ‘non’ achievers for the
purposes of giving feedback to the

_ parents.
(2) is very important since it gives
insights into children’s
understandmg and helps the teacher

to reflects on her pedagogy.

is not at all helpful in children’s
learning.

3

creates a hindrance in the process
of children’s learning.

Which of the following is a corréctly

matched pair of type of intelligence and
end-state performance possibilities as

per Howard Gardner’s theory of
multiple intelligences ?. |
... Types of End-state
Intelligence . performance
possibility
(1) Linguistic | — Sculptor
(2) Bodily-kinesthetic - Athlete
(3) Spatial = ' —  Therapist
4) Salesperson

Intra-personal -

According to Lev Vygotsky —

(1) children’s cognitive development
occurs in stages.

(2) ‘maturation of schemas leads to
cognitive development in children.

(3)  language plays an important role
in cognitive . devélopment of

~ children.
(4)  children learn language through a

‘language acquisition device’.
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28,

26.

the teacher jg flexible ang caters to
needs of individual children,

(3)

the teacher ygeg the textbook as
the only Source of know]edge.

- the teacher go
based on thei

4 gregates the children

r abilities,

According to which theorist “cultural

tools® Play an importan role in cognitive
development of children ?

(1) Albert Bandura
2) B;F_. Skinner
3)  Lev Vygotsky
4)  Jean Piaget

An effective classroom
reduce gender
broadening develop
for all sexes is

strategy ¢o

stereotyping  apng
mental possibiljtjes

(n - forming same-sex ability
groupings.

2) forrning mixed-sex activity groups
and promote discussjon,

(3) to ignore and dismiss biologica]
differences among the sexes.

(4) tn reinforce gender roles as

portrayed in the society.

Multilingualism in 2 classroom needs to -

be understood a5 by the

teachers.

(1) aproblem

(2)  asystemic issue
(3) an asset and resource
(4) ahindrance
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28.

29.

30.

Needs of gifted and crea

@)

€)

4)

be addressed by '

(1) providing specific instructions to
solve problems. ,

(2) administrating memory  based
tests.

- (3) giving challenging tasks and

activities to prevent boredom.

(4) giving questions that require -
convergent thinking,

Children  with ‘dyslexia’ can be

identified by =

(1) analyzing their reading and
writing skills,

(2) assessing their ability to solve
complex higher-order problems:

(3) finding out their social and
cultural context.

(4)  a thorough physical health check-

up.

Which of the following is NOT a suitable
learning material for students who are

partially sighted ?

(D Talking books, felt bulletin boards -
(2)  Small-print worksheets

3 Large-print books |

(4)  Three dimensional maps and

charts

The underlying belief behind ‘inclusive

education’ is

(1) provisioning of special education
institutions  for children with -

different handicaps.

the philosophy that all children

have a right to get equal education
in a regular school.

segregation of children on the
basis of) their abilities and

provisioning of vocationa] training
accordingly.

based on their handicaps for
identification of thejr limitations.

tive children can

diagnostic labelling of children
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IMPORTANT : Candidates have to do questions
31 to 90 EITHER from Part - Il (Mathematics

Social Science).

. P
seargof . qRama @ g 31 § 90 T @ W )
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PART - II/ W - 11
MATHEMATICS AND SCIENCE J TfvTe @ e

Directions : Answer the Jollowing questions by R - Rz 37?7} & IWH P 7%?
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" (2) Multiplication as inverse of ) g fea S 1ee & oS,
division should be emphasized. oA F AR R |
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33.

34.

Which of the following is most
appropriate strategy for teaching
students to mathematical
problems ?

(1) Teacher

explaining the steps required for

solve

obtaining the solutions of the

problems. ;
(2) Students should be encouraged to

view a problem from many

perspectives.

(3)  Guess and verify approach should

be strictly discouraged.

(4) The list of formulae required for
solving the given set of problems
should be in the
beginning,.

provided

Identify the incorrect statement from
among the following : '
(1) Mathematical
involves precise use of language.
(2) Conjectures do not have utility in

communication

constructing mathematical
knowledge.

(3) Hypothesis have  a -role in
construction of mathematical
knowledge.

(4) The notion of argumentation is

central to mathematics.

should ~ begin by~

(11)
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36.

37,
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Which of the following is a desirable
strategy  for assessing  students’.
learning in mathematics ?
(1)  Students’ Justification of their

Tesponses should be an important
basis of assessment.

Development of "mathematical
vocabulary should not be a basis
of assessment. '

(3)  Same tagkg should be given to a]
Students for parity,

(4)  Students’ incorrect answers
should be ignored,

(1) both necessary and  sufficient
condition,

(2)  neither necessary nor sufficient
condition, :

B a necessary but not g sufficient
condition,

(4)  a sufficient but not g necessary
condition, & ¥

Consider the following statements :
A =If n is even, then n? js even.
B=1Ifn? is not even, n is not evep,
C=Ifn?is even, then n is evep,
D=1Ifn is not even, then qz

Which of the follow
true ?

is not even,
ing statements is

(I)  Bisinverse of A

(2) Dis contraposition of A,
() - Cis converse of A.

(4) . Dis converse of A.

(12)
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Which of the following teaching-

- learning resources in mathematics

cannot be used for visually challenged
students ?

(1) Tiles

(2) GeoBoard
(3) GeoGebra
(4) Taylor’s abacus

Which of the following statements is
true ?

(1)  Intuition has no role in generating
mathematical knowledge.

(2) Mathematical statements can be
conditional.

(3) Mathematics consists of all the

theorems proved in mathematics
books.

(4) A person good in arithmetical
computation is also good in
Mathematics and vice-versa.

Which of the following statements is
NOT correct regarding differently
abled children of dyslexia in
mathematics learning in an inclusive
classroom ?

(1) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(2) Dyslexia impacts only language
learning not mathematics learning.

(3) Dyslexia has an impact in a
person’s co-ordination - of verbal
and spatial aspects of numbers,

(4)  Visual patterns in mathematics
help in overcoming difficulties
experienced by dyslexic children.

(13)
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Freffaawsri i d e a7

(1) TR [ % Iedqred § 3fagiid 6l
I3 AR TR 2 | |

2) T Y REhe S T § |

@) TRE H gERl § & 7 o e
$i Iyafr d it aar |

(4) T =ARE S b iy aitser
# 371 & 98 v H oft ar=st g
3 foreia: st @8 e € |

e wE ¥ YA s A fafy
oIt &9 % BE % TR S %
ﬁﬂ?{ﬁﬁmﬁ‘-ﬁ@aﬁ%ﬂqmmﬁf%?
(1) 93T HAYHaT I s=1 H 39
e =it g o gufeq w9
e e et 2
TS AGHAT had WISl HEY =)
gﬁﬁm%q%nﬁ?ﬂam
: .
UST HEHAT W UNE =fw %
el % wiRw st wnfE
e i T SR W E R |
e % Rmifea TR veT swma
T T T I Y T HRA
aﬁ“ﬁ?ﬁﬁm@%‘él
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41.

42.

43,

The number o
of the largest 6

(1 s

@ 6

3) 3

4 4

If the 8-g;
divisible by
of (x — y)?
M 3

@ 4

3 1

4 2

11
Leta=

true?.

o #<&

(3) %<%<——
@ <<

f distinct prime factors
~digit number is

git number 179x091y s
88, then what is the value.

13

: 15
13 b= 14 and ¢ = 17 be three
fractions. Which

of the following s

(14)

O]

=

EIRE

41.

42.

43.

R

. P..H
6-3iE 6 7 A 9 T FH

AT OGE] Y HEAT ]
1 s
@ 6
3) 3
(4) 4

afe 8-37h T 179x091y, 83 3
f g, A -y TwTIR Y 7

1 3
(2) 4
3) -1
4 2
‘ 5
mwﬁa“é, =‘i%3ﬂtc=l—

1 215 13
@ L1 s

B 1 s



PII . ,
4. 1F 0.139 + 075 + 2.105 — (1.001) x

1.1=2 -k, then the value of k is

(1) 0.1071
(2) 0.1075
(3) 0.8925
(4) 0982
: 3 5
45. If a=-3 and b = i then which of the
following does not lie between aandb?
2
m -5
7
@ -3
3 o
1
@ -3
46. The product of 1.7 x 10* and

125 x 10 is expressed in the

standard form as k x 10", The value of
(2k + n) is

(1

)
)

(4)

2.25

3.23
2,125

1.125

(15)

i
A=l

|
|

44,

45.

46.

Ife 0.139 + 0.75 + 2.105 — (1.001)
L1=2-k8 DkFAFE

(1y  0.1071
2 0.1075
(3) 0.8925
(4)  0.982

MRa=-Jolb=24 A aan

maaﬁtb%a‘\a@aﬂﬁ% ?

m -3

@ -1
(3 0

@ -3

1.7 x 10* 3K 12.5 x 1076 ¥ AR B

A 9 H k x 10" R =6 R s

B1QKk+n)HIAN Y

(1) 225
@) 325
(3) 2.125
4) 1125

0

X

SPACE FOR ROUGH WORK / 7% %™ % fow st



48,

49.

Two numbers are in the ratio 3:5. If
12 is added to both the numbers, then

the ratio becomes 5:7. The sum of the
given two numbers is

(1) 48
(2) 56
3) 32
4) 40

The marked price of an article is

T 840. A shopkeeper gives a discount

of 15% on the marked price and still
makes a profit of 19%. What is the
cost price of the article ?

M)
@)
3)
@

% 600
3640
< 540
T 580

Sx=17 o dx-3

3 e T3
vﬂiue of (8x +5) is
1 9

2 13

3) 6

@y 7

If + 4x, then the

(16)

47.

48.

49,

2 deE 3:5 % I 4 § Wﬁualﬁl__

i 12 T Y, T I M 5.9,

ST | TS S Sl B A

(1) 48 .

(2)
€)
Q)

56
32

40

Tt a%g 1 JAfhd A T 840 % |
THMGR 30 g B AR e W 13y
1 g TH a9 8, IR o 3 10y,
1 AT BT 2 | TG BT 569 e TR
(1

(2)

3600
3640
(3) - %540

(4) 580"

Sx=7 4x-3
W=+ 2 = y

(Bx+5)HMAMR

+ 4x%;ﬁ

L 9
@ 13
B) 6

@ 7
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50, Let

J
i
|

P = 12xy - 10y% - 18+,

0= 14x2 + 12y2 + 9xy, and

R:Syz—xz'l"\"y
then (P+Q)-R=

(1)
@
€)
4)

20xy - 7x% - 3y2
20ry - 3x2 - 3y?
22xy - 3x2 + 3y2
22xy + 3x% - 3y2

1
51, Ifxt+ 4= 322,x# 0, then one of the

values pf (x -—i’) is

(1)
)
3)
4)

B = B - - B -

52 If15x - 26x + 8 =(Ax + B) (Cx + D),
where A and C are positive integers,
then what is the value of 2ZA+B-C-

2D)?
0
@
3)
@

2
3
0

1

v, R
| SPACE FOR ROUGH WORK Y6 B & forg o

17 : 2
50. WA SR

P = 12xy — 10y? — 18x2,

- Q=14x2 + 12y? + 9xy, 3R
R=5y* -2 +xy¥|

@ (P+Q)-R=

(1) 20xy —7x2 -3y
(2) 20xy —3x%—3y?
(3)  22xy—3x?+3y2
(4) 22xy +3x% —3y?

ERE |
E‘% 51. 'qﬁx4+§=322,x;&0%,'ﬁ3f(x—i)w

THHAAR
1y 6
2 8
3) 2
(4) 4

52. ﬂﬁlez—zﬁx+8=(Ax+B)(Cx+D) |

%,aﬁ,AaﬂtcmTﬂm%,?ﬁ
(2A+B—C-—2D)W"-TI‘-TW'3?

(1) 2
l 2 3
I 3 o
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0 (18)

. P
BC 3 ADEF ¥ afe AB - EF, -
, ; = EF 53. AA A
53. In AABC and ADEF, if AB ’ : C=DE a4l CA = FD ‘é,
BC=DEand CA=FD, then . . . BLC= -
(1)  AABC = AEFD o (1) AABC = AEFD
(2) AABC = ADFE - (2) AABC = ADFE
(3) AABC = ADEF ‘ (3) AABC = ADEF
(4)  AABC = AFED - (4) AABC = AFED .
54. Which of the following can be the 5. T 3§ @ a9 @ gue By
sides of a right angled triangle ? | T & Fehell § 7
D 15 cm, 32 cmand 57 ¢y () 15em, 32 em 3R 57 em
(2)- 65.cm, 72 cm and 07 T (2)  65cm, 72 cm 3 97 cm
() 20cm, 21 ¢mand 31 ¢cm (3) 20 cm, 21 em 3R 31 ¢m
@ SemTemamdggen | (4)  35cm, 77 em 39 88 e
35. Tze Euhmb;rfof edge; (1}:; a plgl_yhed.ron, | 55. foet TFEAD b 7 Berp 3R 10 ¥
which has ) .
1ees and 10 vertices, is & ' ¥ g % R o) e 2
1) 15 @O 1s
2 17 @.EE @ 17
(3) 13 \ E'J!% 3 13
07 B e e, e g @ 14
S6. In AABC, the side AB is produceq to
56.
E and side Ca is produced ¢, D. %ABC A, ‘F‘TABEIﬁEﬁaﬂtngA
M ZBAD = 125° ang Lgpe - D T S s 4 |
100°, th i ing i - 2
ot en which of the following js . . ?4BAD*125°3ﬂI4EBC=100°'§,
(1)  Difr between ~ABC ﬁﬁﬁﬁaﬁqmm% i
liference between and ; 1 !
ZACB is 350 t (D 2aBc sy <ACB 1 iy 3503 |
) Difference between /BAC and @) <BAC 3k ZACB w7 A 2002 |
£ACBis 200

(4) AB>RC

l ()  AABC Wty
: . . I |
(3)  AABCjq an isosceleg triangle, i 4)  AB> BC® | ﬁgm :
.. ' N I
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58.

XX RN

59.

60.

573

In trapezium PQRS, PQ || SR and the
ratio of PQ.to SR is 3:2. If the area of

the trapezium is 480 cm? and the
distance between PQ and SR is 12 ¢m,
then the length of SR is

(1) 36cm
(2) 48cm
(3) 24cm
(4) 32Zcm

A rectangular sheet of paper 88 cm x 10 cm
is folded without overlapping to make a
cylinder of height 10 cm. What is the
capacity (in litres) of the cylinder ?

22
(Take = _7-) ‘

Q) 7392
2 8.624
(3) 5.54
@) 6.16

The volume of a cube is 2197 cm3.

What is its lateral surface area
(in ecm?)?
(1) 845
(2) 1014
(3) 676
4 576

What is the mean of the range, mode
and median of the data given below ?

5,10,3,6,4,8,9,3,15,2,9,4,19,11,4

(19) .

—
Al

57.

58.

59'

60.

0
wwe PQRS #, PQ || SR & 3R PQ @1
SR &7 M 3:2 B | AR wHE W

STF 480 cm? R 3 PQ qYT SR & &I
#Hglt 12 cm 3, T SR 718 &

(1) 36cm

(2) 48cm

(3) 24cm

(4) 32cm

88 cm x 10 cmmﬁlﬁ@m
FTH % gHe 1 e arfve 16,
HreH TF 10 cm HIT§ H 9o ST
TR | Ao i i (@ F) =0 2 7

(n=2.72"€ﬂf3m)

(1) 7.392

(2) 8.624

(3) 5.54

4) 6.16

Rt 97 1 AT 2197 cm? B | TR
‘mﬁf‘{ﬁqm(cmzﬁ)wé? '
(1) 845

(2) 1014

(3) 676

(4) 576

fr aAlesi & fow, ofter, sgas aw
MG AARIE 7
5,10,3,6,4,8,9,3,15,2,9,4,19, 11, 4

(1) 10 l (1) 10
2 12 I @ 12
3) 8 (3) 8
49 l @ 9

,“__;

: ) |
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Directions :

- Selecting the correct/most appropriate options.

61.

62,

- 63,

Which of the following statement best
describes the nature of science ?

(1)

scientists are totally objective in

their work.
(2) the scientific method is the only
guide for conducting research,
(3)  science IS a system of beliefs.
(4)  science is social in nature,
Cognitive validity  j, science
curriculum means
(1) dilution of content

)

inclusion of appropriate  fyp
elements of science.

3)

inclusion of how concepts of
science evolve over time,

4)

~ adaptation of content as per the
cognitive leve] of learners,

According to N,C.F, 2005 in the upper
Primary stage science curriculum,

“which  of ‘the following s
recommended ?

. Concepts shoylq be linked ¢
making  senge of everyday
€Xperience,

b. Concepts should be arriveqd at from
activitieslexperiments.

¢. Concepts shoylg be taught thrdugh
disciplinary 4pproach,

( 1) abandd
(2) aandd
(3) abandc
(4) aandb

Answer the Jollowing questions by

(20)

)

fdy « frefien vl F T 3 %

‘

P.]]
Ty

. Preffar w % ¥ B W R
' R 1 G ST AT FETE 7

62.

63.

(1) Ftw T A o ey g
frog g g |

Al iy aqgém%ﬁmaﬁ
= fo1q T AmfeRien 2 |
(3) o forvamell ) o o |

(4) ﬁmﬂ?ﬂ?{ﬁmﬁlﬁ% l

o o areat # HTes v
g -

(1) 91eF-eg 1 geafiommr

@ TR % s men qw H
WS 7 |

3) ﬁwaﬁﬁmﬁm%m
%@ﬁmﬁqa‘e/ﬁa"r%anmm

COR L) 57 . BEICIC e
mﬂmﬁrwmm

(1) abafky
) aaﬁ{d
() a3, bak,
@ a3y
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64.

65.

66.

From the following, identify the
statement that is true about science.

(1) When a theory has been supfaorted
by a great deal of scientific
evidence, it becomes law.

(2) In time, science will be able to solve
most of society’s problems.

(3) Scientists rely heavily on
imagination to carry out their
work.

4 Al scientific ideas are discovered
" and tested by  controlled
experiments.

Ishu was given an individual task of
collecting weather reports for a week.

, Identify where Ishu went wrong from

the assessment indicators given below :

(1) She concludes that decreased
humidity increases the likelihood
of rainfall.

(2) She understands that range of
maximum ‘and minimum
temperature varies everyday.

(3) She tabulates data'from’a website
everyday.

(4)  She arrives at conclusion that rain
may or may not take place in the
coming week.

Which of the following is a useful
strategy to - understand conceptual
gaps in learners ?

(1)  using concept maps

- (2) " giving homework regularly

(3) organizing quiz sessions

(4)  observing practical skills

@n

£
e A{0]

— . SO T ————— ——— T “— T —— ————

64.

65.

66.

0
FreferRaa weAl | Tear i B e %
(1) v g F ke aad 5

g10 9gd 3tfres wmel fire 2
CrAcpticCacin Rl

2) om s guy i, fge waw $i
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qgmEm |
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67.

68.

69.

70.

To encourage more girls to take up ..

sciences, you may adopt all of the
following strategies, except

(1) invite women scientists to  visit
your classroom. . gl

(2) €ngage students in examining
myths and stereotypes about
science,

(3)  use gender sensitive language and
encourage your students to do so.

(4)  be mindfy that girls always

dominate discussion in science
classroom,

Science teachers need to 'ask more

divergent questions because

A it stimulates and develops critical

_ thinking,

b. it directs
answers,

C. it helps develop thinking Strategies

students o correct

d. it helps in assessing  creatiye
behaviour in a learner,

(1) onlyb - :

(2) onlya

(3) ab,c

4

acd

Using demonstrations iy classroom
predominantly involves learners in
1)

visual, auditory ang kinesthetic

learning
2) auditory and kinesthetic learning
(3)  visual and auditory learning

4)  visual learning only
Gi‘ve the sequence of Planning for
your science classroom using inquiry

approach in teaching Concept of
density.

a. allow students ¢,
relationship between
float and sink.

b. allow students. to play with Water
in a tub with different objects,

¢. ask students to design a small boa¢

that can carry 1 kg of weight.

determine
0bjects that

(1) boc—oa
2) boa—>c
(3 a=»>b-oc
4 c—ob-oa

E2m

| '(212)
i

|

67.

68.

69,

]

P.[[

1 7 % o ol s e
%ﬁ%m 3 T A gy
HeTT 3 HIEET ST 1 3y

ATHEN 3
(1) , : \
a;aﬁﬁﬁaﬁaﬁtﬁ%am
@ E&m&iﬁ@ﬁ%r
@) = A e
ST 3 I Rrahia g
amma;mm%m.
4 @am @ & F'ﬁﬂ:l Cal SET 7
gferar gaem BT | |
ﬁmﬁrwﬁaﬂtaqﬁmawmm

a. %mﬁaﬁmaﬂtm
HATR | .
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TGH AT R |

c. %ﬁaﬁﬁmﬁﬁﬁﬁam%l

4 & Rrei & gomiors s 3
mﬁmm%l

(1) FE&h

2) FFw4

(3) a b, ¢

4) g, c,d
T Ty

' 3
Rt =) iy sy’ 50

OB Waﬁtmwzﬁ@m
) T S TR gy |
3) Wa’ﬁ?m%|

(4) aﬁ'ﬂ "eﬂ:@:(”

T iy s
a1l %ﬁmw%ﬁ-mara

(l) b“)c-.)a
(2) “)a-.)
B) a b

(4 onp >0
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71.

72.

73.

(3)  The larvae of silk moths are called

‘Y’ is a plant which does not have -

Chlorophyll Whgt could ‘Y’ be ?
(1)  Pitcher plaﬁi ‘

(2) Ma;;le tree

(3) Cuscuta

(4) Algae

‘Which of the following statements is

correct ?

(1) Assimilation of food takes place

in large intestine.

] : . oRio
(2) Large intestine has finger like E"‘%

projection called villi.

(3) Large intestine is. wider and

shorter than. small intestine.

(4) Absorption of digested food takes

place in large intestine.

Which of the following statements is

NOT true regarding life cycle of silk

worm and production of silk fibres ?

(1)  Silk fibres are proteins secreted by

caterpillars.

(2)  The silk yarn is obtained from the

cocoon of the silk moth. .

as caterpillars. -

(4) The pupa ' develops into

caterpillar.

(23)

A

|
I
|
l
|
|
|
|
|
|
|

71.

72.

73.

.0
‘y’ @i T dwmr } frad saRifee
(eftaeras) Ta a1 | <Y 1 & "Rl
27

(1) =g (R arew) -
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4) Y&
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74.

d

76.

77.

Which of the following represents
correct matching set ? 4

(a) helps in the ‘
movement of body
by contraction
and relaxation,

(b) Hard structure
Which forms the
skeleton

(¢} Partof skeleton
which can be bent

(d) Joins the chest
bone and back
bone together to
form an enclosure

(@) (i), (b) (i), (c) (i), (d) (iv)

(i) Cartilage

" (ii) Muscles

(iii) Rib-cage

(iv) Bones

(1)
2 @) @v), O (i), () i), () i)
(3) (@) (D), (b) (ii), (c) (i), (d) (iv)

@) @i, (b) (), (o) (), (d) (i)

Which of the ~following glands in

human beings secretes more than two.

hormones ?

(I)  Pancreas
(2) Thyroid
(3) Adrenal

(4)  Pituitary

Which of the following statements is °

true ?
(1)
)
(3)
4)

All non-metals are gases.

All non-metals are non-ductile.
All metals are solids.

All metal§ are hard,

‘Y’ is a man-made fibre obtained

from a natural source. What could pe
‘y? 2 :

(1) Acrylic
(2) Jute
(3) Rayon
(4) Nylon

(24)
74.

75.

mm
i

-

| 3
e 3 3 9 T T ey
AR
(a) Rt ok A () oy
B TR Y e 7
eI H1 2 |

(b) TR FE R (i) i

SHepTel ST 8 |

(0 s F1 9w R (i) Taeh-fiy
FHFRATTEHATE |

d) 78 HN I IR (iv) ARy
WE W SEH
I H A FaT
21

(1) (@) (i), (b) (ii), () (i), (d) (iv)

@) (@) (iv), (b) i), (c) (i), (d) ()]

() (a) (i), (b) (i), (c) (1), (d) (iv)

(4) (2 (i), (b) (iv), (c) (i), (d) (iii)

ﬁtr&-rftgaﬁl?rma‘ia?raﬁwﬁﬁﬁra’lﬁ

R ST T w2 7

() = :

(2) YUrRlEe

3) dgm

(4) dqy

'-ﬂ%ﬁmwﬁqmmwa% ?

2) j;‘ﬂ U I (e ) o
|

(3) UTAE 3y B E |

4) = W?hﬁt‘aﬁ'cfr‘% |

% #réma-ﬁﬁﬁm (wrge0) 2

Tl e & TR |y

LR E

(1) wfsrfers;

@ [

() Wh

(4) e



P-II
78.

79.

80.

Study the following table :

Eu'el Calorific State | Ignition
value temp.
A High solid high
B | Moderate gas high
C Moderate gas | moderate
D Low liquid Iow
Which is best suited as domestic fuel ?
1 c
2 D
3) A
4 B

Species restricted to a particular area
are referred to as

(1) Endemic species
(2) Migratory species
(3) Endangered species

@

Extinct species

Metal ‘X’ displaces metal ‘Y’ from its

salt solution but is not able to displace
metal ‘Z’ from its salt solution,
Identify the most reactive metal.

1 z

(2)  Cannot be determined.
(3 X
(CYI'¢

81.

Light rays from an object fall on a
surface and - get reflected in a
Completely diffused manner. What
¢an you say about the nature of image
of the object ?

(1) It will be virtual and enlarged.

(2)  No image will be formed.

(3) It will be virtual and of same size.
(4) It will be real and enlarged.

(25)

T St S S W ———— Y Vet V) e a———

M
e

78'

79:

80.

81.
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3 A
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82, 1In order to slide a huge box lying on ﬁm%WMﬁﬁ%wi}
. the groung In her room, Reshma 3 Rl a1t Tt ST TR 7
should apply a force which is greater e
than which of the following forces ? (1) maliiliwl l
(1) Normal force (2) s
(2)  Muscular force (3) wfew
(3)  Static friction (4) WW
o i:) 'Grav1tatlona1 force - IS @m ) T
+ _ ldentify the correct statement from _
among the following: dillglq%ﬁﬁa’hﬁmqﬁmml
1) Sound cannot travel through_ Eg gy ‘cm‘a N -
vacuum, L
(2)  Pitch of sound is determined by its ﬁ%ﬁﬁ‘d'@m% | . T
" amplitude, @) Fm H gy A g, TN
(3) The lower the frequency of the IEEL |
: ~Vibration, higher is the pitch, @) @& yeerar & Sk B
(4) The loudness of sound g m%ﬂlaﬁl% |
' determined by the frequency of 3“5Im _ . _
vibration, 84. i fomr mm w4 RESRRC R
84.  Which of the following sets comprises mm%ﬁﬁm%zﬂqm% 1
liquids which are poor conductors of (1) ﬁulz aq-p;ﬁ{ﬁ-a, A A
electricity ? _ i) ) a‘l'-ﬁmﬁm, ﬁﬁ-ﬂ, :ﬁ—q\mm
(D shampoo, vegetable oil, disti]led mim 3) aa‘i%rsra,ﬁq,ma
T . E‘% @) w1 e, S, R
(2)  sugar solution, vinegar, lemon juice - : - _
(3)  tap water, shampoo, honey 85 R e BE T LD
(4)  salt solution, lemon juice, vinegar it =y @R 7
85.  Which of the following sets comprises (1) Som IHHT, gt EEICEI Ml
chemical changes ? _ EICi _
(1) Cooking of food, boiling of water, 2 wEr= RRASUE AT T T,
: dissolving sugar in water. L e,
2) Rusting of jron, burning of paper, @) AL, e ?ﬁg‘-n, R 2
digestion of food. A0S S
3) Boiling of water, breaking il
t glass, rusting of jron N 4) :(:T: ;’ﬂﬂl Eh—ﬁ_'ﬂ, WIS 7 9H,
'(4) Dissolving salt in water, digestion I 3 . .mm
' of food, shredding of paper, I 86, sy Caiy £ o Eﬂﬁi iey & R
86.  Neena was cycling to the market to l gt 'Wﬁmmwgﬁ | ITHR 9% W
buy some grocery items, The market | A4 km < ‘3 | 353 TE 10 fire 12
is 4 km away from her home. She km/h ﬁ?ﬂ‘émm | 38 7 &
travels at a speed of 12 kmy/h for fipgt l 356 iy g frerdy 2 Rrd R
' inutes. On her way she meets her l 15 ﬁFl'E Tl wh % I e
IQ K. t and stops to chat with I 3
friedd Nikia inutes. She resumeg ey l Sl o g km/h I 8 W
B e B il Whatls | ! R | TR ey st
journey at a sp d for the journey 2 I W% 2 .
her average spee M 10 i
(1) - 10kmh | @ dint,
(2) 4kmh | @) gy
(3). 6 km @) By,
(4) 8kmh
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87.

88.

89.

- 90.

()

Which of the following will not be

helpful in the process of separating a

mixture of salt and water ?

(N Distillation

(2) Boiling

(3) Decantation

(4) Filteration

Which of the following properties of

light can be used to explain the

phenomenon of shadow formation ?

A. Light travels in a straight line.

B. Light travels at a high speed.

C. Light is composed of seven colours.

D. Light does not pass through
opaque objects. ;

(1) CandD

(2) DandA

(3) AandB

4 BandC

Identify the correct statement from
among the following :

(1) The proportion of large particles
in loamy soil is relatively higher
than in the sandy soil.

The proportion of fine particles in
clayey soil is relatively higher
than in the loamy soil.

The proportion of fine particles in
sandy soil is relatively higher than
in the clayey soil.

The amount of large and fine
particles is about the same in
clayey soil.

@
3)

C))

Deficiency of vitamin ‘X’ causes
bleeding of gums. This vitamin is
essential for absorptlon of mineral ‘Y’
and X’ is found in food ‘Z’. Identify
X,Y and Z.

X-vitamin B, Y-calcium, Z-green
leafy vegetables

(2) X-vitamin A, Y-phosphorus,
Z-poultry products :

(3) X-vitamin D, Y- calcium, Z-milk
product

(4) X-vitamin C, Y-iron, Z-citrus

fruits

E

OFA0)

 —— e — — rea—————

=

——— — —— —— A ————— VA oM W —— ——

- @7

87.

88.

89.

90.

O

< ik e 5 e R T S B
mﬁﬁq%f@aﬁﬁﬂqmﬁ
@
(1)
(2)
(3)
4)
2 Ru T THEW F BH  EEE A=
S BT & 9 TReeA Y S 5
RS awa 2 ?

A. mw%mﬁmm‘él

B. YHY I I A A KA S |

C. TSI &1 o7 () A PreeR s g |

A
ECIGE
fream

D. mmmﬁa@aﬁﬁqﬁmﬁl

(1) C3mD

(2) D3WA

(3) AFRB

(4 B3RC |

fafiriea § & w€ F9F I gAY :

(1) R T 3 5 VI 1 ST SGH
7] i INHT ISR A |

N ﬁﬁ@ﬁﬁﬁwm
T e 1 ST SR ¢ |

(3) =g g H WA FO0 I

_ forereft T St aRETRG SEACRRIR |

(4) Tt e o w2 it 3k wE ol
1 TTAT ST SO g |

R <X Y e () o HRO TG

¥ iR w8 v 2 | ug Taefm sl
Cy' ¥ STamNvl % AT STEvEs @ 9T
D GUIEEIVAR R CIs R HID G &
3R 2’ I IgEIT ;

(1) X fafm B, v-Hfegam, zZ&l

2) X-ferf| A, Y-SEerH, Z-55e
EISI

(3) X-ffm p, v-*fcwam, z-gu
31

@) X-frafm c, Y-, z-FeEw
* el
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A

IMPORTANT :  Candidates have to do

- Question Nos. 31 to 90 EITHER from Part -
II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

¢ | it @ T GG 31 790 7
' ' T ﬁﬁm ar §rT - 1]
t We _ Im]mm@?mmﬁam ey o

PART - I1I / HIT - 111

| A | AT )
- SOCIAL STUDIES / SOCIAL SCIENCE (RTHI&® /

Directions : Answer the Jollowing questions by
selecting the correct/most appropriate options.

31. Statement' (A) : Chola temples were

the hub of religious, social and
cultural life.

Statement (B) : Chola bronze images -

- were of deities but sometimes also
of devotees, '

¢--:(1). Both (A) and (B) are true and (B)
; . 1s the correct explanation of (A).

(2)° Both' (A) and (B) are true, but (B)
" - is not the correct explanation of

(A). 4
(3)  (A)is true, but (B) is false.

@) (A)is false, but (B) is true.

32. Statement (A) : The authors of
' ‘tawarikhs’ during "the Delhi
Sultans advised on preserving an
ideal social order based on

*birthright’ and ‘gender
distinctions’.

Statement (B) : Their ideas were
shared by everybody.

" (1) Both (A) and (B) are true and (B)
is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B)
is not the correct explanation of

A).
(3)  (A)s true but (B) s false

(4) (A) is false but (B) is true.

1

E2E

. —————— —
— —— —
TS WA W —— T ———

fidn « Pt vl % IR [ F fy

e e ferped 9T |
3. T (A): A A e, TR

o i o & e A |
YT (B): W wE w3
_mﬁﬁwmﬁﬂﬁﬂﬁﬂﬁﬁ

b off ot |
(1) (A) @@ B) <A1 78 & 3l (A=
el TEH (B) R |

@ (Aw@ ) E, g (A)F

I TR (B) T R |

B (WEAR, g ®)EL
@ (AT R, R By w2 |

T W: R P g 3 g

(A) 70 (B) i w1 § s (4)
e B)3 |

) () (B) 3wt &, g ()
- .WWW(B)T@'%I

3) (A)H@%,ﬁﬁ(mw%l'
W AR, g gy



P-11
33.

34.

35.

Statement (A) : Raziya changed her
pname on her inscriptions and
- pretended she was a man.

Statement (B) : Authors of tawarikhs
used social and gender differences
to argue that men are superior to
women.

(1) ~Both (A) and (B) are true and (B)
is the correct explanation of (A).
(2) Both (A) and (B) are true but (B)
. is not the correct explanation of
(A).
(3) (A)is true, but (B) is false.
(4) (A)is false, but (B) is true.

Statement (A) : Akbar, Jahangir and
Shahjahan followed the idea of
Sulh-i-Kul (universal peace) as
principles of governance.

Statement (B) : Akbar’s interactions
with people connected with faiths,
made him realise that religious
scholars who emphasised rituals
and dogmas were often bigots.

(1) Both (A) and (B) are true and (B)
is the reason for (A). :

(2) Both (A) and (B) are true but (B)
is not the reason for (A).

(3) (A) is true, but (B) is false.

(4) (A)is false, but (B) is true.

Statement (A) : Under the Delhi
Sultans and the Mughals, the
hierarchy between social classes
decreased.

Statement (B) : The tribal societies

were not divided into numerous

unequal classes. .

Both (A) and (B) are true and (B)
is the correct explanation of (A).
Both (A) and (B) are true, but (B)
Is not the correct explanation of
(A). '

(A) is true, but (B) is false.

(A) is false, but (B) is true.

(1

2

€)
4

(29)

0]
=

. —————— T T ra— A T T— ) S — ——

33.

34.

35.

.0

o (A): @ 3w e |
ST A g e a9 W/
1 o1 ym O e |

FU7 (B): TARRE % AGH ¥ WIS

o7 foimie = 3MYR SR T8 T o1
fr ey Rl A e A AT AL |
(A) T (B) AT T F 3R (A) F
& wEH (B) 2 |
(A)TE (B) eI 581 3, T (A) 1
T TR (B) TE B |
(A) T 2, fFg (B) T R |

@) (a)TeER, g @) FR

FE (A): 3T, I 3 et |
qee-u-e (ada iR, & Rem A
e 1 fagia <= T |

FuF (B): b ol | 9 g¢ =

¥ grg far-fad 3 s it v H

=0t s < fagr s O af e

WEA A &, F AFHFHENAE |
(A)@(B)aﬁa@%aﬂt(mw
FN (B) § |
(A)@(B)aq’rmﬁ%mmm
HRV (B) T ¢ |

(3) (A)FAE, feg @) |

@ (A)TER, g @) TR

YT (A): Reelt & goam R g
F w1 # Joflag THN TG /W &
T |

Q)]
(2)

3)

(1)

2

%Y (B)

mﬂ‘ﬁﬁuﬁaﬂ'@fmi

(1) (A) T (B) 3nt wet & 3ftC (A)
R Tl (B) R |

@) (AT @) E, Fg@A)®
TE TRy (B) TR |

3) (A)TR, Reg @) TR |

@ (A)TEE, g @) e
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36.

37.

38.

Statement (A) : Bahadur Shah Zafar
wrote letters to all the chiefs and
rulers to organise a confederacy of
Indian states to fight the British,

Statement (B) : Bahadur Shah Zafar’s
decision to bless the rebellion of

1857 changed the entire situation
dramatically.

(1) . Both (A) and (B) are true and (B)

was ensured because of (A).

(2) Both (A) and (B) are true but (A)

has no relationship with (B).

(3)  (A)is true but (B) is false.

(4)  (A)is false, but (B) is true.

Which of the following is FALSE in
the context of women, caste and
reform during the colonial period ?

(1)  Vidyasagar suggested that widows

could remarry.

@)

Prarthana Samaj drew only upon
Hindu texts.

Pandita Ramabai founded a
widow’s home at Poona.

3)

(4) ~ The knowledge of ancient texts
helped the reformers promote new

laws.

The state of Telangana was earlier

part of which state of India ?

)
@
3
@

I

Maharashtra
Andhra Pr adesh
Madhya Pradesh

Karnataka

(30)

36.

4)

@

P
Fo (A) ¢ FEG WE TR T g
i T R e S
a@%%ﬁ'm"”'“@“
TR T T AT

o (B): W E T 1857 &

Eq @1 g gue & %%‘Hﬁﬁ
foufy ke e s % v
(A) 3T (B) GHI HEl € W (4) 3
~ (B) H1 ghfFem fom |
(A) 3R (B) gHT =&t &, fohg (A)
3 (B) o = 1S Ty TE § |
(A) T 2, g (B) Tere B |
(A)Tera 3, g (B) T B |

(1)
(2)

€)

SRR et 5 e afeend, sl
TR & o # ol & @ @
g Tem 2 ¢

(0 w3 frvar-frag =1 qom
faa | |
T T Y Y T W
Ferem et fopey | i

€)

(4)

N
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(31) . 0

39. C(lmsidelll' the following statements and 39. . Frafafaa suE @ am @ 3t S |
select the option that indicates the IIR 9T s@m =L
correct role of media in a democracy : ﬁlﬁﬁ% E-T% w: =
A. It should provide information to ‘A, - T TN S ATEH R AR

citizens through news. g gErh = |
B. It should provide the point of B. 3@ fass & 3w+ IER
view of the advertiser, through | Sl 3 ey @ =Y |
its news programmes.
C. It must discuss the views of all C. gﬁg{g&ﬁm'ﬁiﬁfﬁ'{?ﬁiﬁ& !
' sections. (1) FaaAmC "
(2) A,BandC i
(3) Only A and B (3) e AIRB
(4) OnlyBandC @) Had B 3 C _ :
40. Which of the following advertisements 40. Fr=fafaa # @ o9 @ foeme wfeaed
is not an example of gender stereotype ? R (Sist-EHIeeRY) 1 IgET &
(1) A woman doing makeup in an g7 '
advertisement for a lipstick. _ - g =

(2) A woman being dropped by her (1) femfes % fammm & o A
husband to office in an Heh—-319 AT |

. iivemlsemlent for afcarl.j : @) TE % fammE I ush wigen = ufd

‘ : ; o _

(3) girl playing football in an . T SHTRE () BT A |
advertisement for a sports shoe. @ SRR )

(4) A mother making tea in.an B 3) Pﬁﬁé Tr@ ¥ fome o w wisdt
advertisement for a tea brand. Fodidl Werd g3 | -

41. Identify the continent from the given (4) =g % fasme # O 0l 1 gug ="
features Aand B: i1l
A. It is the smallest continent that _ _

lies entirely in the Southern 41. fu o weEe A 3R B & 3MYR W HEE9

i Hemisphere : ﬁwﬁ
B. It is also called an ‘Island 2 :

: "continent’. ' A. T BIT FETGN &
(1)  South America @ﬁﬁmmﬁm% |
(2; - Aftica B. T ‘ffuAgEe fiwgmars |
3 Antarctica -

- @ Australia | | Eg a’f“&m ITARERT 2{23 msﬁa?r'
42. As we move away from the sun in the I '
solar system, | 42, Shusad e R-RN@EIgIRE,
(&) ;ileduaﬁfy the planets decreases | (1) TS 1 SR S e T |
(2) planets very close to the sun are l @ W wEd TH & TR | AR
‘ made up of gases and liquids and I TA R Aot e s gl @
the planets far.away from the sun l TR REaTE TR AT g E |
are made up of rocks. . :

(3) time taken by planets to complete I (3) T g & 3R T T
one orbit around the sun increases. l ?ﬁ & arafu EIEE[-I Eicik

(4) time taken by planets to complete | (4) g—tﬁm-@a; TR 3T T TiGRAvT
one orbit' around the sun O arafy Tl S R |
decreases. i I

b fan il




Y

g _— Py
|  afe get ST HETT e
43. TImagine if the earth is’ not inclined I 43. e Ht A 3 :
towards the plane of its orbit, then . 3R T g Bl ;
“A. the circle of illumination will A, vk g9 I TR ' FE@
match with longitudinal lines. T firet st |
B.  the circle of illumination will B. waft gu 3l Fwivha Y v
match with latitudinal lines, @am;ﬂ;ﬁ |
C.  there will pe no seasonal

44,

" 45.

3) ;
(4) Narmadaand Tap!

variation in a particular region.

D. there will be more seasonal

variation in a particular region.
Choose the correct option.

(1) BandC
(2) BandD
3) AandC
(4) AandD

Consider the statements A, B, C about’

Autumn season in India and choose
the correct answer :

A. _This season is also known as the
south-west monsoon season.

B.  Winds blow from the Bay of

Bengal and Arabian sea towards
the land in this season.

C.  This season is marked by the
onset and advance of monsoon,

(1) Band Care true, A is false,
(2) A, B, Call are false.

(3) AandBare true, C is false,
(4) AandCare true, B is false,

Which of the following rivers form tpe
sSunderban Delta’ ?

(1 ) Mahanadi and Godavarj
(2) KriShﬂa and Kaveri
Ganga and Brahmaputra

————
B — —————— S———— ————
L G —

44.

45,

C. et & fomdiy o IS et uigdy
i g |

p. Tt &3 fiw § s wheh
Tiae B | ‘

T8 e et |

(1) BakcC

() B3RD

3) A3rc

(4 AIFRD
mﬁmﬁ%ﬁwﬁwmn'aﬂt
cwﬁwﬁﬁqaﬂm‘aﬁmmw

i |

A. 'wmﬁm-ww%
_ mﬁ!ﬁmmm

¥ N W, der oy ) o
ST AR e o o i |

C.. WWW%mmaﬁ
T w AR |

B.

(1) Baﬂtcaﬁ,AW% |

@ A B3R Cmhimmg g,
3) Aaﬁ‘“ﬁﬁ,cﬂm‘%l
(4) AWCW%,BW%]

Pt & 3 a3y ;
-W’Wﬁﬁwmﬁtﬁw gwﬁ

(1) e v iy
@ Fnweng
B) T g
@ o

A
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46.

47.

48.

49,

Identify the atmospheric layer from

the given features A and B :

A. - Meteorites burn up in this layer
on entering from the space.

B. Temperature declines  with
increasing height in this layer.

(1) Mesosphere

(2) Thermosphere

(3) Troposphere

(4) Stratosphefe _

Insolation is associated with

(1)  Solar energy

(2) Exosphere and its gases

(3) Air pressure

(4) Seasonal winds

Match the following with appropriate
choices :

a. Coniferous i. Eastern
forests ' margin of the
; continents
b. Mediterranean ii. Hardwood
vegetation trees
¢. Tropical iii. Softwood
evergreen evergreen
forests trees
d. Temperate iv, Westand
evergreen south-west
forests margin of the
continents
(1) a-iii, b-ii, c-iv, d-i
(2) a-i, b-iv, c-ii, d-iii
"~ (3) a-i, b-ii, c-iii, d-iv
(4) a-iii, b-iv, c-ii, d-i
Consider the two statements and

choose the correct option :

Statement (A) : Sahara once used to
be a lush green plain.

Statement (B) : Cave painting in
sahara depicts rivers, crocodiles,
elephants, lions, cattle and goats.

(1)  Both (A) and (B) are true.

(2) Both (A) and (B) are false.
(3) (A)is false, but (B) is true.
(4)  (A) is true, but (B) is false.

(33)

———— ——— — ———— T —— ——— ————

a

46.

47.

48.

49,

e ——

o)

for T wEO A 3 B % FMW W

FYHEHE WA whl IE=H

A, AR 8§ YA FA 9 Ienl-Tis
AT H AR WAA T E |

B. 39 Wd H "gdl TS % HIY G9HE
ueare |

(1) wewEd 2) wwEMEE

(3) wnHEw (4) HHATHEA

FTAY 1§79 8

(1) sy

@) wfeded ot 388 2R ol i &
a1y

(3) ST % A

(4) Hrget g % | _

3fra fRreedt & gy Fafalaa <1 fem

Hife ;

a. YHUR i. TG el

BT

b. YWHETKE il (GHFEIAIE
EEIin)

c. IWHREHE il THFEIR
HeEgR a9+ HEgR g8

d. WA ag=En  iv. HEEM 51
G gfeedt v

Tfaoft iyt

(1) a-iii, b-ii, c-iv, d-i

) ad, biv, cii, d-ii

(3) a-, beii, c-iii, d-iv

(4) a-iii, b-iv, c-ii, d-i

& W i wl | = ¥ ok Ihm
ey T ETT H

FUH (A): N PeH e A
ot &0~ A o |
FYF (B): HERT I THIA & WW o

afeat, W, g, I, 9y @°r Tl
T & |

(1) (A)IMB)IAFdE |

2) (A)IRBIFE AL |

(3) (A)TH R, W (B) TR R |

(4) (A)WER, WY (B)TAR |
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S1.

s2.

53.

Consider the statements A, B, C on
dolphin and choose the correct
answer :

A.  Dolphins are found in the fresh
water of river Ganga. and
Brahmaputra.

B.  Dolphin sanctuary is located in
the state of Bihar.

C.  The presence of dolphin is an
indicator of the health of the

river.

(1) B and C are correct but A is
ncorrect. .

(2) A and B are correct but C _is
incorrect.

(3) A, B, Call are correct.

(4) A and C are correct but B is

incorrect.

Biogas is essentially a mixture of

(1)  Methane and Hydrogen

(2) Methane and Helium

(3) Methane and Carbon dioxide
(4)  Methane and Nitrogen

Consider the statements A and B
about resources and choose the
correct answer,

A. All resources have economic
value.

.B. Time and technology are two
important factors that can
~ change substance into resource,

(1) Both A & B are true and B is the
correct explanation of A, .

(2) Both A & B are true but Bisnota
correct explanation of A,

(3) Adisfalse, but B is trye,

(4) Alstrue,butBis false.

Choose the  correct group of

conventional sources of energy from
the following :

(1) Hydel power, geothermal énergy,
tidal energy
(2) Nuclear energy, solar energy,
" hydel power
(3)  Oil, natural gas, f'Erewood
(4) . Coal, firewood, biogas

(34

|
|
|

50.

52,

3.

P11

Sifet % IR H QU T A, B 3K C Tt

R faEw Hifv o 78 e w1 5

Hifo .

A, T IR SRAGH T H A ey o
Bifeth I I 2 |

B. Tiem A fER Uw
FafRa R |

C. it i TR & et iy
F I EAATE |

(1) BIRCHE, RgATaL
2) ASRBELE, g CTed |
() ABIRCAFTE
4) AIRCEHE, TgBToWR |
TR JFTE w9 A P A Y e
o g 2
(1) B i g
2) o sindfem
(3) i 3Tk el Sr3atiTETe

) T sk e
HHHA ¥ 9§ e A 3tk B W RER
W IR T TR |

A i aiis A |
B. ®m 3R Wi @ mew®

Wﬂﬂﬁamm-ﬁ
1) A 3R B 25t g § B &
. ATREIHEIR AR |
@ A ¥ B 2t g & wg B
_ AT ] A |
3) AW%,WB'{:@%I
@ A¥IR, v |
B 3 8 et asa@‘“ﬁ
e iy TR Hid
O o -fm, yoanf v, S0
e \
T, ST A, |
@) Prre, S, g . |
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1

4, ‘Match the types of natural resoyrceg

5.

56l

(B) with their classification (A) ;

A . B

(Classification
~Basis)

a. Level of i.
development &
use

b. Origin : ii.

Actual &
Potential

Biotic &
Abiotic

¢. Distribution iii. Ubiquitous

and localised

d. Stock iv. Renewable
' and Non-

renewable

c-i, d-ii

c-ii, d-i

c-iii, d-iv

c-iv, d-iii

(1) a-iii,
(2) a-iv,
() ai,

(4) a-ii,

b-iv,
b-iii,
b-ii,
b-i,

Statement (A) : Around 12,000 years
ago, a shift to relatively warmer
conditions led to development of
grasslands in many areas in India.

Statement (B) : There was an increase in
the number of deer; antelopes, goat,

sheep and cattle.
(1)  Both (A) and (B) are true and (B)
is the reason for (A).
(2)  Both (A) and (B) are true but (B)
is not the reason for (A).
(3)  (A) is true but (B) is false.
(4)  (A)is false but (B) is true.

Which of the following is true in the
context of ‘sites’ ?

* A These are places where remains
of past were found.

B.  These are found only on earth’s
surface, \

C. These are found only buried
under the earth.

D They are never found under sea
Or a river, :

(' A, Bang C only

@ p only

(3) A only

(4) A and B iny

M

(Resource Type)

(35)
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Iy

d-ii
d-i

c-iii, d-iv

d. ¥e® v
b-iv, c-i;
b-iii,
b-ii,
b,

a-iii,

(2) a-iv, c-ii,
(3)

Q)

a-i,
a-ii, c-iv, d-iii

FYT (A) : T 12,000 FTeT B W
#, %% &t § T g % wRo O
1t AEH o1 & | | .

FY9 (B) : feww, awelian, st 9% aik
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(1) (A) W (B) 3FI w&l € ik (A) =1

WU (B) | .
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(A) T8, fFg By ™o 2 |

(A) 7T 8, fheg (B) w2 |
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57. The Harappans made 57. A Wﬁgﬁ |
A.  Seals out of stone : SRR
B.  Pots with yellow designs B. fATH ﬁﬂ‘mqﬁ |
C.  Spindle whorls made of iron c. @R { =t aiel |
D.  Gold vessels D. AR YT T |
(1) A,BandConly (1) FHad A, BAAC
(2) B,CandD only ) FIA B, CTAID
(3) AandConly : ¥aa
(4)  AandD only 83 = ‘;: :;"T ([:)
58. A megalithic burial had remains of FRTTTOT Y 2 FHFEt
two skeletons. An appropriate way for S8. ? a:ﬁﬁ gﬁ%a%m; Sl
figuring out a female’s skeleton from ¥ SEL
.among the two would be to look at m%@mm :
A. the bone structures A. E‘E“-ﬁ EIRIGEN
B. the ornaments on the skeletons B. m‘aﬁ%m ﬁlﬁ AN
C.  size of the skeletons C. HFHEl® AHR
D. utensils for cooking food found D. $HE ¥ Ty e G A §
with skeletons. I;!"lEl —
(1) onlyAandC ﬁ M lAH‘EJTC
(2) onlyD et
(3) ‘onlyA (2) HEAD
(4) only AandB | (3)  HIAA
' (4) IR ATAB
59, Arrange the following in ascending 1y Wﬁ
order starting from the earliest period 59. RPN FE ¥ Y& wH ANE
A. Beginning of the composition of ﬁﬂ%rﬁaaﬁami
the Vedas Al é&iﬁ & Y
B. Beginning of the building of =TT e
megaliths. ’ B. w3 fmfor @ gEAd
C. Settlements of Farmers at Inamgaon - € wmwie § gt ot FeE
D. - Charaka D. =&
() C,D,B,A
1) CD,B A
(2) D’ C: Bs A ( Lt et
3) ABCD | (2) D,C,B,A
4) B,C,D,A (3) A,B,C,D :
60. Arrange the following in descendi l ‘(4)' s ot 7
. nding
order (backward) starting from the I 60. T % ww @ = EacH Fa
recent period : ' II ) § FrafsRaa = g : o
A. Increase in the use of iron, A ;o 3 g, T
; cities, punch marked coins. I ?;;% # J
" 'B. Beginning of the use of iron in | g‘ﬁ
the subcontinent. l B m@qﬁ@%;ﬁgﬁr{ﬁ
C. Sett-lem-ent in Ankamedu.p-ort _ ‘ C mﬁgwﬁm | |
D. Beginning of the composition of I D _ ﬂgﬁﬁ
Sangam literature. l (1') HTH e <6
' C,D,A,B
(1) C,D,A,B 5 » D, A,
(2) GCD.BA | 8 C,D,B, A
(3) ACBD l A,C,B,D
A B CD @) A,B,C,D
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62.

63,

Which of the following are trye about
End-Text questions ?

A. Encourage learners to explain

concepts in their own words and
debating on issues.

B. Project work, compare and

contrast are types of end-text
questions.

C. Expands on the

understanding of concepts and
relate with what has been taught
earlier,

Choose the correct option :
(I) A andC are true.

(2) B andC are true. _

(3) A, B and C are true.
(4) A andB are true.

The social and political life textooks :

A. - Include definitions
descriptions of
issues.

B.  Portray institutions and
processes as if they functioned
as envisioned in the Constitution

C. Provide . diverse concrete

- examples of people and regions.

Choose the correct option :

and
socio-political

(). BandC
(2) A,BandC
3) AandB
4 AandC
After

narrating Dr,
€Xperience on the way to Koregaon, a
teacher asks, ‘Do you think people at
the station discriminated against Dr.
Ambedkar and his brothers ?° ;
In this question, which. skill is the
teacher emphasising ?

(1) cause and effect

() hypothesizing situation
B)  comparing experiences
(4} infer from situations

.

learners’

Ambedkar’s -

37
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62.

63.
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m%mﬁﬁqmwﬁ%
TFRE |
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g |

e ey T i

() A3mcaHd|

(2) BaRcudE

() ABIRCEHTE|
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fawar 7

9 W 3 fines fre P wsRIw E ?
(1) R S S |
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(3) ATWE! Y g HE |

(4) aRfRufed] & a7 o |
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64.

65.

To introduce the theme ‘Markets’,

Which. would be the best pedagogical
method ?

(1)

showing pictures - of various
markets.

@)

locating major markets around the
school on a map.

(3)
@

textbook reading and discussion.

inviting a shopkeeper for an
interview to the class. -

‘This is the glory of God,
Deﬁlément exists within.

~ The body is polluted from within,

66.

m

Be sure of it says the Mahari Chokha’

As a teacher, how would you interpret
this poem and discuss with your
learners ?

Human purity is determined by
our thoughts and beliefs.

Human purity can be achieved by
seeking God’s blessing,

Human purity is fixed at birth.

Human purity is determined by
the work we do.

()

3)
(4)

Social Science curriculum at the

upper primary stage focuses on : ‘

A.  Understanding earth as  the
habitat of life forms .

B. Studying own region; state and
country

C. Studying India’s past and current
development

Choose the correct option ;

(1) A,BandC
(2) onlyAandC
(3) only A |
) only A and B

(38)

=
e

64.

- 65.

66.

e |
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e P 1 TR g oy,
Wmmﬁmﬁ? i
(ty P SR S T & g
Hf@m |
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fore smfa T |
T} & 30 ST R AigA
TR g @ e
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TEH B3 W A TG

3) Tl e s Y Ruffa e |
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67l' b

Using a globe and a source of light,
teacher can demonstrate the following

~ concepts :

08.

69,

A. Rotation

'B. Day-Night

C. Seasonal Variations:

. D.  Distribution of Rainfal]

Choose the correct option;

(1) A,CandD
(2) B,CandD
(3) A,BandC
(4 A,BandD
As a teacher, you can make

interlinkages while discussing ‘Iron
smelters and factory owners’, a theme
in History with which one of the
following chapters
textbook ?

A.  Mineral Resources
B.  Industries

of geography

C. Power Resources

D.  Inside our earth
Chdose the correct option :
() A,CandD

2) B,CandD

(3) A,BandC

4 A,BandD

In a city school, the best method to

introduce ‘Types of Forests’ in a

geography class would be to .

(1) screen a documentary on different
types of forests.

2)  divide learners into small groups
to work on types of forests.

(3) organize a field visit to a forest
near to the school.

) make a PowerPoint presentation

on forests in the region.

. .
.%E’i

(39)
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67.

68.

69.

o)
T IR T G IR W Th
e = 1 & R sraumonett w5 gut
qHare ?
A, G
B. feA-ta
C. gt afEd
D. aui = faa
gt fspes HamT =
(1) A,C3WD
(2) B,C3WD
(3) A,B3RC
(4 A,B3IRD
& g & W w1 shEm S

TN T 3R S R v s

(4)

U & & w5t #, et ) s 3 st _

%W’WWW%%WW
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1) = s ¥ = w e
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(2) aﬁ%mmmm%m
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| T |

@ W H IR I 99 T W e
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70. To develop practical skills among 70. ;g:maﬁ 3 frrfte w0 %ﬂ ﬁTﬁﬁ
learners. while discussing aﬁﬁ'ﬁﬁa@a ,
;e::[t‘hquakes’ teacher should focus i : Waﬂfml
(1) Present cases of earthquakes (2) ‘lﬁqﬁﬁéﬁ mm| ,
(2)  An activity on earth’s movement 3) “JEhd ¥ TR |
% (3) Types of earthquakes @) W ¥ A S AW T
1(4)  Precautions during earthquake H’IH?JTﬁTﬁ . i
| i —r it @ % T T 1990 % oy
71. - The local people of the Tawa reservoir 71.
area organised to demand which right . a:{qﬁﬁﬁaﬂ'qm ¥ I &M & A d
related to their livelihood in the 1990s ? RAEfsagL 7.
(1) Horticulture rights h ) mq;ﬁq,—r R IREI
(2) Commercial Forestry rights
(3)  Cultivation rights _ (2) SRR SATeH 1 A
(4)  Fishing rights =iz (3) Tl FA H AEL ‘
N ~ .' a_’_[ ﬁ
72. Choose the description that best '@% (4) ENIREEY
represents diversity from among the 72, ﬁmﬁﬁaﬁ%aﬁwﬁmﬁﬁmﬂ |
‘following. |
(1) It accepts differences among i wteh B ? )
people. (1) T8t & fafdnwar = wfiEnd
2) It :Iiccepts inequality among ! 2) = ant ¥ S a
people. ‘ |
(3) It leads to discrimination among Eﬁm% | N
people. (3) 98 AN o e SewTe wore |
(4) It leads to similarity of people. 4) TEEF Eﬁﬂﬂﬁ |
73. In the context of democracy in India, 7. Y S %“éﬁ 3 ﬁq‘ﬁ«‘{f@'ﬂﬁﬁ
 which of the following statements is
false ? FHEFATATE ? ]
(1) In India people participate () Y o &R =) & A §
indirectly in the working of the l I E |
government. k 0 e
(2) The first general election after I ) Wﬁﬁ%?ﬂ I gCCIC 195
independence was held in 1950. l q1 | >
(3) A small section of Indian I @) WReE W w S )
population could vote even before X o T
independence of India. I W s & T8
(4) India  adopted representative I W’FﬂT T | gﬁﬁﬁ
democracy after independence. I (4) Wi § s Wi a
74, A Gram Panchayat is elected for a I AT Y ST |
. term c;fhow many years in lnfha ? l 14. ;T(H .&, M : 2 ‘Er'ﬂ *
5 | EUEInE
@ | M = @
() 6 , G) vww @) e

)
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What is the designation of the person

in-charge of a police station ?

(i) Officer on Special Duty
(2) Home Inspector

(3) ~Station House Officer
(4) Police Superintendent

The Amendment brought about in
2005 to the Hindu Succession Act
provided for which of the following ?

(1) Right of Hindu community to

have °special laws governing
# marriage.

(2) Right of men to protect
themselves from paying
compensation after divorce.*

(3) Right of minority communities to
open religious schools.

(4) Right of women to have an equal

. share in family property.

Who is considered as the final

interpreter of the Indian Constitution ?

(1) Judiciary

(2) Attorney General

(3) . President of India

(4)  Parliament

The (Prevention of Atrocities) Act,
1989 was enacted to provide jU_Stlce to
Which of the following communities ?

(1) " Tribals and Dalits

(2) - Only Minorities
() Dalits and Minorities
(4)  Minorities and Tribals

A political system having more than

One level of government can be
described ag

(1) Republican
2) Federal
3) Secular
@) Libera]

(41)

75.

76.

=
E‘% 77.

78.

79.

, o
gferE o % TR T IEm R 7
(1) FTFWATENE TGN
(2) TWIETR
(3) WM T=T AW
4)  gferw avefteres
fag swruftreRr srfrfem & e e 2005

% guwa 3 fafafaa & @ = géa
HEMET ?

(1) T wqem = faar = fafie
I &1 ISR |

(2) gedl 1 qET % ATE A
=i Tt @ gram 1 arfuer |

() ITIEEH wHgEl W i

- Trenera @iem 1 AR |
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redfurias R AT ST R 7
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2) I ST

(3) WRA % Upafy

4) wwg |
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(2) wHaE

(3) wdfaaey
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80.

81.

82,

83.

Which of the following policies
promotes social justice ?

A. Reservation of seats in

government  employment for
listed dalit candidate. '

B.  Enacting Minimum Wages Act
(1) BothAandB
.(2) Neither A norB

(3) OnlyA

(9 OnlyB -

In a discussion on architecture of New

Delhi, a teacher should focus on
discussing :

(1) superiority of its style over Qld
Delhi
(2)  how it asserted British importance
- and created sense of awe
(3)  how tourists look at the buildings,
4)

how to view the buildings from a
distance.

The teaching of History must be done
with the focussed objective of

(1)  identifying issues which  are
relevant in the present,

(2)  developing performing abilities of
the learners.

(3)  transmitting what happened in the
pasts.

4)

the pasts.

What can be the
introducing current affa
~ science classroom ?
A.  Promote interest in the issues of
the country.
B.  Develop skills of
critical evaluation.
C. Build interest ipn the subject by
providing sensational news,
D. - Help the learner relate schgol
learning to life outside of school.
Choose the correct option :

purpose of

analysis and

1 A C, D are true.
(2 BGDacme
3) A, B, C are true.
(4) A, B, D are true.

memorising how it happened in

irs in social

@2

i
AEhe]
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tmphasise :

The objectlve of discussing ‘equality’;,
in a social science classroom is to-

A. address issues of dignity with the
learners.

B. sensitize learners
respecting everyone.

towards

C. build upon values enshrined in the

Constitution.

D. explain that all differences leads
to inequality.

Choose the correct option :
() A,C, D are true.
2) B, C,Dare true.
(3) A, B, C are true.
(4) A, B, D are true.

In order to address the diversity that
exists In the class and in society, a
social science teacher needs to

A. include examples of multiple
cultures in the class discussions.

B. take up only examples that are
relevant to the majority.

C. cncourage students to share
their personal expericnces in the
class.

Choose the correct option :
(1)  Only B is true.

(2) A and B are true.

(3) Aand C are true.

(4) B and C are true.

Assessment fn social scienceé should

() measuring retention of
information by learners.

(2)  evaluation of learners ability to
extrapolate their learning to
various life situations-

()  identification of learners who are
fal]lng

@) testing learners writ
the class.

lng abilities in

(43)
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85.

86.
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2) AIRBIAREI
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87. An example of secondary source is g7, Tedt @ .
(1)  Constitution of India (1 - ¥ bl | x‘
(2) Painting by Abanindranath Tagore 2) s e |
(3 CA Bayly’'s An lllustrated (3) LA aefl g_,m ﬁ"if@?l by 'ﬁ'{%’h |
. History of Modern India fogh ot i ¥1e |
(4) James Mill’s A History of British | @) 3w fiet U ferfed T fesdt ot
India  ffewtem -
88. To discuss on women’s education in 88. T | =it farem R ﬁm
colonial India, students could refer to ¥ fag freeff = mmaﬁ b g
the following autobiography : mwmmg ?
(1) Rokeya Sakhawat Hossain’s A T ’
- Sultana’s Dream (1) @qﬁ J E I‘
(2)  Sattanar’s Manimekalai Eﬁ% (2) Hd T e \
. . EI‘ : T 3 ‘
© (3) Tarabai Shinde’s Stripurushtulna (3) m e @‘W ger |
(4) Rashsundari Devi’s Amar Jiban 4) TEgE &l & AR Sfem "
- | : r
A \ ' ‘ r
89. The teaching of Geography should 89. TEﬂT'I fRragor St T E'Fﬁ | ﬂ% i
develop perspectives related to issues ' qﬁﬁﬁwﬁmmaﬁq
concerning s
A. Resources and Conservation B T
B. Development and Displacement B: 3 ferear
C. Challenges to Unity in Diversity _ G irii SRR ﬁ?’ﬁq‘ 3:“‘%"”
D. Human Development . D. H fa
Choose the correct option : | e fored T R S
(1) ABandC - () ABIRC
(2) A,BandD @ ABIWD
(3) only AandB (3) ¥ AIRB
(4) FTAA D

0] only Aand D
0. W uhR wwRe ﬁsﬂ# § @

900. An active social science classroom

w;uldlencouraif: lelarrr::rs tond r ly : : PR

- (1 isten to the lectures and rely on

what is being shared. (1) IR B g1 3 " fFy
R |

participate in challenging projecté.

(2 |
3) keep discussions minimal (2) %’-ﬁ?ﬂ'{?f e & aypfreR & |
4) be focussed on reading the (3) walal B = T |

(4) I - 3 T T H el

textbook
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oh & PART -1V
LANGUAGE -1
, ENGLISH
JMPORTANT : Candidates should attempt questions from Part —IV (Q. No. 91-120),
if they have opted for ENGLISH as LANGUAGE - I only.
jrections : Read the- bassage given below 91, Which part of speech is the underlined
nd answer the questions (Q. Nos. 91 — 99) et tollowing expression ?
pat follow by' selecting the correct/most _ word in the fo g exp :
| ﬂPPmpriate opclons : . ‘It cannot stay at one place.’
The very nature of the mind s (1) Particle
| stlessness. It cannot stay at one place or hold (2) Adverb
one thought for long. For every thought that (3) . Determiner

ppears, there are comments, judgements and
gsociations. Thinking is a continuous activity
with the mind jumping from one thought to
another from morning till night. Like clouds in 92. ‘asif in ceaseless activity’
the sky or waves in the ocean, thoughts appear e
md disappear as if in ceaseless activity.

(4) Pronoun

The word ‘ceaseless’ means

However, all thoughts that pass through (e Foze
ar mind do not affect us. But we get affected (2) flawless
when our ego is hit. Then the mind whirls and ~(3) permanent
eates a tornado of restlessness within. A
wriety of probable scenarios crop up ‘how
dre he insult me; what does she think of
herself ? Where T am not respected, I will not 93. ‘creates a tornado of restlessness’

w; if he speaks thus, I will reply so’. And so it | ,
ges on and on. ; The word ‘tornadp’ here means

% 40
RHE

(4)  continuous

We have an inbuilt filter in our mind _ (1) storm
which chooses the types of thoughts or subjects
hat we like to brood upon. We are not born
With this filter but we acquire it over the years
ith the kind of books we read, the company
Wekeep and the subjects we are interested in.

(2) mixtur_e
(3) waterfall
(4) confusion

 That is why some people are obsessed
¥t football, cricket or fashion while others
“Uld not care less for such things. This filter is

94. ' Thoughts are compéred to

(1)  associations

teuﬂt .day by day by our actions, suggestions,’

uia'Chlngs and influence of others. We can (2) clouds

ot'glate]y choose our own filter. So let us learn (3)  comments
uild : ) ] -

iy our filter wisely and strengthen it @ judgements




The
from

(1)
)
()
(4)

96.
(1)
(2)
@)
4

97.
A,

process of thinking continues

morning to night
year to year
day to day

week to week

Thoughts affect us when our

leamning is affecteq.
pride is hurt.
job is affected,

sleep is disturbed.

Read the following statements -

Our reading decides the filter in
our minds,

The filter in our mind controls

- our likes but not dislikes.

(1)
)
3
4)

98.

A is correct and B is incorrect,
Ais incorrect and B is correct,
Both A and B are correct,

Both A and B are incorrect.

Which of the following statements js

incorrect ? '

)
@)
@

(4)

“The filter in our minds

our actions,

Our thoughts do not remain stuck
at one point.

Each one of us has an inborn filter
in our mind,

We like to be respected when we
go somewhere.

~

I .

influences

(46)

=
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Which part of speech is the underlinedl

word in the following eXpressiop 2

99.

‘But we get affected’

(1) Adverb
(2) Particle
(3) Verb

(4) Adjective

Directions : Read the poem given be|gy ang
answer the questions (Q. Nos, 100 -
105) that follow by selecting the
correct/most appropriate options :

That time of year thou mayst in me behold,
When yellow leaves, or none, or few do hang
Upon those boughs which shake against the cold
Bare ruined choirs, where late the sweet birds sang,

In me thou seest the twilight of such day,

As after sunset fadeth in the west,

Which by and by black night doth take away,
Death’s second self that seals up all in rest.

In me thou seest the
That on the ashes of
As the death-bed, w
Consumeq with th

glowing of such fire,

his youth doth lie,
hereon it must expire,

at which it was nourished by.

100, What does ‘Death’s second self’ stand

for ?

(1) ashes of one’s youth
(2) Setting syp

(3) sleep that gives rest
@) |

a dying fire

> |



Y

W izhat on the ashes of his vouth dotn e
i ,

i3

lie's
which figure of speech hag been used
in the underlined phrase ?

) Personification
2) Alliteration

) Simile

(4) Metaphor

The theme of the poem is

(1) love

(2) songs of the birds

(3) the idea of death

(4) the change of seasons

The poet’s life, today, is like

season,

(1)  winter
) summer
(3) spring
4)  autumn

In this season the branches have .

—— leaves, -

M few

) no

) either (i) or (ii)
@ neither (i) nor (ii)
@) only (i)

" only iy

47)
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0
105."" ' What did'‘the branches of the trees

enjoy earlier ?

(1) bright light of the sun

. (2) darkness after the sunset
(3) aruined group of singers
(4) sweet songs of birds

Answer the following questions
by the

appropriate options.

Directions :

selecting most

106. A teacher asks her learners to jdinv
sentences to make a short paragraph,
inserting supplied . connectors and
coherence markers like (but, and,

however, because, although, etc.)

What is this approach to writing

known as ?

(1) Free-writing approach

(2)  Communicative approach

(3)  Control composition

(4)  Controlled-to-free writing approéch

107.

An assessment done at the end of six

months of one term is

.
(1) Semester assessment

(2) Remedial assessment

(3) Summative asseésment

(4) Formative assessment




0

108.

109.

110.

A teacher asks - her learners of

class VIII to read a novel by an Indian
author and asks them to write an
essay giving their views on the novel.

What is this known as a reading
activity ?

M
@
)
(4)

Reading for information

Scanning

Intensive reading

Extensive reading

A teacher selected a text from a
newspaper and dropped every fifth
word and asked her learners to supply

“the missing words. What is a test
known as ?

(1)  Complete

paragraph

the comprehensible

)
3)
4

Writing test
A cloze test

Fill in the blanks

Multilingualism as a strategy is

(1) teaching of all subjects in English

medium and teaching Indian

languages as a language.

@

teaching of a foreign language

along with Indian languages
through the medium of the state

language.

(3) using the languages of learners for
teaching-leaning of languages

and content subjects.

(4) teaching-learning of at least three

" Janguages and content in mother
tongue. -

(48)

l

111.

112.

Denotative meaning of 4 Wor by |

-_____——_'

(1) figurative meaning | ‘

(2) grammatical meaning | ':

(3) factual meaning or basjc Meay: |

(4) much more than whgyt 2wy
actually means

‘We acquire

language b
understanding input that js lttg

beyond our current level of (acquirg )
competence.” What is this Pedagopiyy |
concept known as ? |

(1) Input hypothesis

~ (2) Thinking hypothesis
(3)  Output hypothesis
(4) Interaction hypothesis

113.

What is the status given to English by
the Indian Constitution ?

(1) National Language

2) Link Language

(3) Official Language

(4) Associate Official Language

. What are the three components of

PPP model of teaching ?
(1) Pre-teaching — Practice teachité™
Produce result
(2)  Pre - conception - Practice %
teacher — Post conception
~(3)  Present — Practice — Produc®

4) Product.— Practice - present




o

(). he hints based on
F.][ A teacher of class VIII discussed ’ 118. A _reader gets t P o
e ﬂdeterminers’ in  her classroom i sound-SymbOI correspondenc
e ' ] t.
rough @ short text in which prehend the tex
tdheterminers occur many times ﬁﬂd decode and co p \
earners Were made to notice them in What is this known as :

se. This was followed by learners
gsing the same in their own language
for particular purposes. Teacher then
prought to the notice of the learners,

(1) Metalinguistic cues

the uses of determiners in contexts. (2)  Syntactic cues
What strategy did the teacher employ

in her classroom 2 3) Graphic cues

) Task based language teaching _

() Communical language teaching 4) Graphophonic Cues

(3) Structured teaching
(4)  Consciousness raising

119. India’s language-in-education policy is
6. A teacher found some of the aspects of - :

language learning e.g. reading with known as

understanding a text on scientific ’ _
concepts. She decided to pick students (1) Language in education
who find it difficult on the particular _}

aspects. She took separate session for %ﬁg (2) Official language policy

them to support them read and
understand such text. What is she

trying to do here ? (3) National language formula
(1)  Thinking skills '
(2) Feedback teaching ' (4)  Three language formula

(3) Remedial teaching
(4) Higher Order skills

: : 120. What is the followin ivi
7. ‘A teacher wanted her students to : g;activity known

learn vocabulary effectively. Which of

the following ways should she adopt to

teach vocabulary in her classroom ?

(1)  Ask them to find the meanings of
the words in the dictionary.

(2)  Ask them to group the words into
meaningful categories and use
them in real life purposes.

|

|

!

i

!

| |
(3)  Write all the new words on the =
!

|

|

|

as in vocabulary learning ?

Find words which can befriend the

word ‘rain’. e.g. heavy rain.
(1) Word groups

blackboard and write their
meanings in the language of
teaching.

(4)  Ask her learners to underline the
difficult words in a lesson and
find their meanings in their
1anguage,‘

(2)  Word web
(3)  Collocation

(4)  Phrase
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P

PART -V
LANGUAGE - 11
ENGLISH

{ -V (Q. No. 121-15¢
IMPORTANT : Candidates should attempt questions from II)_?:GE _(3 o ),
if they have opted for ENGLISH as LANG

Directions : Read the passage given below
and answer the questions (Q. Nos. 121 — 128)
that follow by selecting the correct/most
appropriate options :

The richness of her childhood
experience came from living a life, which
embraced tradition on one hand and exposure
to the world of change, of questioning and
questing on the other. Her father’s progressive
ideas, his involvement in bringing about
change in the restricted Brahminical society,
his encouragement of Kamaladevi to follow
her own inclinations and yet give her an
opportunity to study in a school and participate
in all the social functions with which he was
involved, as a Senior Revenue Official, gave
her confidence. The example of her
grandmother, who lived the life of a scholar
and fearless woman, who travelled alone

without any fear of any social disapproval or

adverse consequences, was a fitting example to

Kamaladevi, who later travelled all over the
world, often risking her life.

Girjabai, her mother was a dominant
influence throughout her childhood and youth
who set an example by overcoming all
difficulties without a murmur. She discarded
meaningless social customs and observances.
She championed the cause of women. Her

conviction was that a woman must educate

herself, so that she could be independent and
her insistence that Kamaladevi should not only
study, but also participate in cultural activities
and sports, enriched her daughter’s life.

L T A—— Sl TS Wis—" o ——

Kamaladevi went with her mother to
Seva Sadan and saw her exhorting women ey,
older than her to become literate. She hearq her
read to them from the newspapers, magazineg
and extracts from books by social reformerg
and nationalists, followed by discussions apg
saw their attitudes changing. Girjabai’s love fo,
music was shared by Kamaladevi and she wag
encouraged to learn North Indian and Camajc
music. This love of music was a great source of
peace for Kamaladevi in her later years.

121. ‘which embraced tradition’

The word ‘embraced’ here means
1)
2
3)
4

pleased
followed
disusgd

performed

122. ‘an example

by overcoming all
difficulties’ '

The word ‘overcoming’ means
1
@)
3)-
)

conquering
over bearing
reaching

not coming
123, ‘living a
tradition,

Which part of speech is the underlined
word ?

(1)
@
€)
(4)

life, which embraced

Pronoun
Determiner
Adjective
Adverb
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126,

.

g,

WhiCh two _contradictory kinds of
; ‘perience did Kamaladevi have in
‘er childhood ?

0 Childlike and Adult
@ Social and Individual
0) Questioning and Questing

. o Tradition and Change

‘Her father did not believe in

(1) allowing children to join the
adults in their activities

@ female education
(3) removing brahminical restrictions
(4) giving freedom to children

which of the following statements is
NOT correct of her grandmother ?

(1) She was not afraid of social
criticism.
(2)  She travelled unescorted.

(3) She believed that women should
lead a secure life.

(4) Sheloved to read books.

Which of the following statements is
correct about her mother ?

(1)  She preferred studies to sports.

(2) She did not believe in adult
literacy.

(3) She struggled - through life’

- smilingly.
(4) She observed faithfully all the
social customs. ‘

Study the following statements :
A. Kamaladevi’s mother read to

her from newspapers - and .

magazines.

B. Music was a source of great
comfort to her. '

(1) Both A and B are right.

) Both A and B are wrong.
{3) . Aisright and B is wrong.
4)  Aiswrong and B is right.

(55)

A T A T T T WA T A T T —

~ that follow by selecting t

. the far-sightedness of th

o

Directions : Read the passage given below

' i 129-135)
the questions (Q. Nos.
B 5 he correct / most .

appropriate options. .
dependence was achieved in
d struggle, during which,
e leaders of the freedom

movement resulted in giving a final shape to our
social and economic goals to be achieved after
freedom. This vision imagined to build a self-
reliant nation through maximum utilization of the
resources in men and materials, and the
establishment of a noble and liberal society. It has
been an article of faith amongst the policy
planners in India that while economic strength
determined the scope and quality of political |
freedom for millions, the quality of freedom
depends on increased work and production in
factories. It leads to just and equal distribution of
wealth among the people so that the poor can also
enjoy the benefit of freedom. This, it is
recognized, is possible only through increased
employment opportunities in the society. -

The goal of in
India through a prolonge

In human terms, democracy means
availability of equal opportunities to all the
people irrespective of caste, creed, sex and
religion to develop their personalities. It means
access to education in Arts, Science and
Humanities and also awareness of our age old
values and traditions. It needs to be emphasized

. that the Indian policy has been based on a

concern for the individual not only as a worker
working for the economic development of the

society but also as an end in itself;
In the Indian‘context, the concept of
national devc;lopment goes far beyond

economic growth; it is concerned with the

creation of a nation united in one purpose, of |

people speaking different languages, professing

different religions and rooted in a variety of
cultures. ' .




i

" 52 133 Our leaders" vision of inde P—Il
129. ‘while economic strength determined | y . T indepeng,,
th ’ i India was based on
e scope
The word ‘determined’ means (1) - economic self-reliance

(1)  preferred (2) diversification of employmen

(2)  rejected _ |
(3)  established | (3)  boycott of foreign goods
stablishe

(4)  decried (4)  development of defence forces

130. “our social and economic goal’

134. lﬁ nddiﬁoh to economic growth oy
Part of speech of the underlined word N
is , society, as a consequence, also needs
(1) Interjection (I) to pay attentiqn to C!imatic

(2)  Conjunction ; changes.

(3)  Pronoun

=

(2) just and equitable distribution of
(4) Determiner - ; wealth. ‘

.(3) development of countryside.

131. “In the Indian context, the concept of’ : "y
The word “concept’ means | (4) to give importance to cultural
. variety.
(1) Care
' i
(2) Inception ; _ : : ; F
(3) Curiosity , 135. Study the following statements : |

(4) Idea

A.  Along with economic growth, we

also want to develop a united
nation with one aim.

132. The Independence was achieved in _ e e o L,
India B. A f:l(:)ble and liberal sociefy
~ depends entirely on economic

(1)  through violent means wealth,
(2) by making use of eve_ry resource (1) Both A and B are right.
available

' (2) "Both A and B are wrong.
(3) through a long struggle

() Aisright and B is wrong. _

- [
L T R g

4) by self-reliant leadership -
’ ) As wrong and B is right.

£ 0 e 2

-
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f’}zctions ::An.swer the following questions
f by. selecting the most appropriate
options'

What _does ‘free-writing approach’ fo
J writing promote ? '
(1) Understanding of the content and
fluency : :
@) Syntax and language use
6) Understanding
accuracy

) Gfammatical accuracy

il fpedagogigal Grammar’»- méans that

(1) Begin from form and move on to
use.
(2) Teaching through immersion
(3) All grammar teaching should be
. rule focussed. ,
4 Teachir_1g grammar in context

138, Which one of the following is not

advocated as an element ' for

assessment in a poem ?

(1) Grammar
(2) Vocabulary
(3) Poetic devices

(4) Theme of the poem

139. A teacher asked her learners to watch
a movie two days ago and now she
asks them to have a discussion on
what would they do, if they were the
.hero/heroine of the movie ? What Is
this assessment task known as ?

(1)  Speaking task

(2)  Thinking task

(3) Extrapolative task

(4)  Critical pedagogy

. . g’ B N e g -
) _ . ‘ ~ i ‘a -
- - ™ o LY
] = E LT
4 ¥ ° .

of form and.
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140.

141.

142.

143,

(0]
What does fluency in reading mean ?
Ability to interpret the text.

1
22; Ability to read without any
grammatical errors.
(3) Ability to read a text at ease with
expression.
4) Ability to read a text without any

mistake at all.

Which of the following statements are

true of languages in India ?
English is the official language

a.
of India.

b. i{indi js the national language of
India.

c.  Hindi is the official language of
India.

d. English is the associate official
' language of India.

(1)

‘a’ and ‘d’ are true.
2 b’ and “c’ are true.
(3) ‘a’and ‘D’ are true.
(4) ‘c’and“d’ are true.

‘Declarative Knowledge’ in learning
grammar refers to

(1) knowing the ideas and concepts in
learning,
(2)  knowing to use a dictionary
- (3)  knowing the rules of a grammatical
item. -
(4)  knowing how to do a grammatical

item.

‘Habit formation through repetition’
is a component of which method ?

(1) Task based language teaching

(2) Constructivism
(3)  Communicative approach
4

Audio lingualism
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145

146.

A teacher of class VII asks her
learners to bring at least two or three
objects from home and she asks them

to- exchange the

objects
describe the objects in their hands in
at least ten sentences. What are the
objects language

known as in

teaching-learning materials ?
ey
@
(3)
)

Teachers materials

Inputs for language learning

Realia

Home objects

- Which one of following components is

a process in the Top Down approach
to teaching-learning of listening ?

)
(2
(3)

Recognising prominent details
Recognising the topic
Discriminating between intonation
compounds

4

Discriminating between phonemes

A teacher arranges her learners into
pairs and give them a text of two
paragraljhs. One learner in the pair
reads out the text to the other and the
Partner takes the dictation. Then the

process is reversed. What is thijs
known as ? -

(1)
(2)
3)
C)

Running dictation
Composition dictation
Jig-saw dictation

Partial dictation

among’

‘themselves, She now asks them to

(58)

o
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147.

148.

149.

150,

X

Py

‘Mechanics’ of language in speakin.g

skills includes

(1) social and cultura] Tules of Usip

language
(2) script, words and Sentences
(3)  pronunciation, grammar and
. vocabulary
(4) clarity of message

Jatin Ragav is reading fast, 100king

for = specific information in
machinery ' manual. What i this

reading sub skill known as ?

(1) Bottom up reading
(2)  Critical reading
(3) Skimming

‘ (4) Scanning

Here are some sets of words in some
pattern. Find what are these known as
in teachihg-learning of pronunciation ?
bit-bet, did-dead, hid-head, lid-lead,
miss-mess, pin-pen, lock-luck

1)

Vowels

(2)  Stress and intonation
() - Contrastive pairs
(4)  Comparable pairs

Words which one recognizes when on¢
hears or sees them are

(1)  Explicit vocabulary
(2)  Implicit vocabulary
(3)  Productive vocabulary
4) Recepﬁve vocabulary
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YouTube Daily Class Schedule

Time
8:30:00 AM

(CTET, REET, UPTET, KVS, SUPER TET)

Mon \Tue Wed

Math

Math Math

Thurs \
Math

Fri
Math

Sat
Math

Sun
Math

10:30 AM

Hindi

Hindi Hindi

Hindi

Hindi

Hindi

Hindi

12:00 PM

English
Pedagogy

English
Pedagogy

English
Pedagogy

1:30 PM

Science

EVS

EVS

EVS

EVS

6:00 PM

Social
Studies

Social
Studies

Social
Studies

6:30 PM

Reasoning

Reasoning

7:30 PM

Social
Studies

8:30:00 PM

CDP

Gradeup Free Series Schedule

Time

8:30:00 AM

(CTET, REET, UPTET, KVS, SUPER TET)

Maths

Maths

Maths

10:30 AM

Hindi

Hindi

Hindi

12:00 PM

Sanskrit

Sanskrit

Sonia (Eng
Pedagogy)

1:30 PM

Science

EVS

EVS

EVS

4:30 PM

English

English

English

6:00 PM

Social
Studies

Social
Studies

Social
Studies

Social Studies

6:30 PM

Reasoning

Reasoning

Reasoning

Reasoning

8:30:00 PM

CDhP

CDhP

CDP

CDP




Candidates who succeeded with Gradeup

Toppers of
322 CTET 2019 Course

Gpagitlins o Ul

©0 ¢

SHWETA RAI SONAM TOMAR SHIKHA SINGH

204000179 197013667 198079981
P1-126 P1-124 P1-120,P2-108

DEEPTI SINGH SATYAM KUMAR

144026747 144024787
P1-123,P2-123 P1-122,P2-116
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